EARAROBREBRT —5 XN—ZXBISH—F

202348178 (B) 1@XH1H

IIQILFiRE B3= US5%—fi

BRI

[AE%] 17 :2,400,000 § ~ 237&:960,000 @ . 37&:600,000H  475:360,000 ™ . 53&:240,000 &

BERE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
o EEER :26. -2 . - FARE R (KH)
1 , | NUFa—0 # 5 Bl 1(2_6)4 3-2-2 | 38.1 7 (4_339) S
RiVZRAI—ZZRYI— B:SyvavAUR (R e
S 44 | EEAIIE 1:26.5 5-5-4  |37.8| - 3 | 473 | AEEEZ KH)
7 3| 77—HA 56.0 (/4) () |SEEE
R:IUA—Y B:VWITI—L—Y TiE &
: S o5 | HREAS 1:26.7 1-1-1 | 38.4| — 8 | 446 |BRA—R (KH)
3|7[10| 7/ FITY 7055.0 (1 1) G2 | PII=E
Ri/RIvwTd BIAALTA— IRERT 7— L
3 4 5 | AHEE 1:26.9 10-6-6 | 38.0 — 5 | 499 |HFNEE (KH)
4l1l1|=arza94 %.0 e o | @ TPk
R:UAVFA—R B:TYRIT7A b BRI 7—L
<, = <~ P SEERN :27. -10- . - TSR (1)\hE)
5 4| EVIUPVEYD 4| 2H (11 217/41) 8-10-10 | 37.9 11 (4_914; %E:F:?
R:Kingman £:=/Lw b Shadai Farm
= = B+ fEE) :27. == . — SHE— (KH)
615|652 NTLSA 5 o 1(72{:)2 8-11-11 | 37.9 13 (4+950) EEE;%
R:707% B:ZSTL7A R ZIB%iS
. P aEst :27. -3~ . - {ESRIGAD (\iE)
7|8)12| #3007~ € 8% ve | T Y [es
R:O—RAFO7 B:F3vIIvrIUR A0S
Al Sy i 7 | BARE 1:27.5 12-12-13 [38.0 | — | 12 | 497 |8ER#ER KH)
gl7|11|FL—RLY—F 54.0 a2 (3 | P
RIAR—RT 7Y 8BS KUY—F LERS
<~ o~ P o :27. -9- . - SR (KH)
9 g EVHUAIRY R &> 6 | & 1 (227) 9 11-9-7 | 39.0 2 (4_1?421) RIS
RiFRF B:EIV—F1F— | BH5
ST _ 8 7 | REF— 1:28.0 13-13-12 [38.2| - 9 469 |BAFFT (IE)
10157 | ZW—7D0 54.0 @) o | B Begs
R:FUBALRAIVR B:TFSALY1vva [SInEe]
o —ie, o LIl &Rt 128. -7~ . - bizad: i WU 2]
1 5| I—-ILFr3av/ o4 5.0 1(12/82)1 o782 ¢ (4_535) TEKER :
R:Z2hAVITVI—Y B:T—FIA4F IREEuk e
g 4 5 | #I|FHHE 1:28.1 7-7-8 39.2| - 10 | 471 |NEEE KH)
RN IIPIT—b B:IATARY—L BRAEHI YRSV T - Ty—L
_ io4 | KEEZ 1:28.3 4-4-5  [39.6| — 1 471 | WEEZ (KH)
131813 N9 7A =)L 50 ) 1) | ZYAE - NTIOTEHE @)
RiNZ—ka1—R BRZANTa—Fv— RS
@ 1—F—&BIENL
13—7F—
20—7F— 10,12,2,13,3,5,9, (4,6) ,1,8,11,7
3al=7r= 10,2,12,13,3,1,(5,9) ,8,4,6,11,7
43— — 10,2,12,3,13,1,8,9,5,4,6,7,11
[ BN
B 2 2,190 AR 2-3 950/ AN 2-3 3,280 3R 2-3-10 18,540/
BB 2 410 2-10 3,810M =} 2=3) 8,210 3EH 2-3-10 161,580M4
3 210 3-10 1,890M 5 = 2-3 3,160
10 800/ S 1 2-3 7,480

ABIC OV TRUTEREERRODDZE. THRIIZEL.




